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Expanding and Simplifying

Exl 3(2x-3) = bx -9
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E xercise E cpanh  and  Simplify
D 4 (p+29) = 4pet 8y

2) 2 (2% -7) = Lx -2

3 V(X 429+5) 5 2x £ 4y + 10

4y 3(p-1) 2 3p - 3q
s) S 3h+2k) = ISk + I0k
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Factorising
€ x 3p+r 6 = 3('0 +2.)
£ x> Cot 2% = 234<3"— +‘>
Erercise
D JOx + 18y = 5<2x*‘33>
2) é,fslﬂ, +4|o¢1 = 271G *Z‘I/>
3) X)(.:) -;—4_32 = 4—3(29{.1‘2)

4) Sx —l0y+5 = §<:¢—2~5 *‘l)
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6 Expand and simplify.

a 34+0+2565+1

c 403 +2f) + 25 - 3f)
@D Expand and simplify.

a 43 +2h) - 2(5 + 3h)

e 5(5k + 2) — 2(4k - 3)
@ Expand and simplify.

a m4+p)+p3+m

c 4r(3 +4p) + 3p(8 -1

@2 Expand and simplify.
a t(3t+4)+ 313 + 21)
c 4e(3e—5)—2ele-7)
@ Expand and simplify.
a 4a(2b + 3c) + 3b(3a + 2¢)
c 5m(2n - 3p) - 2n(3p — 2m)



